= Counter! (hp53131a @GPIB0:3:INSTR) =)

WRITE TEXT "COMNFFREQ (1) EOL

WRITE TEXT "FREQARM STAR SOUR EXT' EOL
WRITE TEXT "FREQARMSTOP:SOUR TIM" EOL
WRITE TEXT "FREQARM STOP:TIM 400" ECL

= Double-Click to Add Transaction =

=] Caunter2 (531312 @GPIBO: 4 INSTR) [«

WRITE TEXT “CONFFREQ (@1)" EOL
R

WRITE TEXT" FREQARM STOP:SOUR TIM" EOL
WWRITE TEXT "FREQARMSTOP:TIM 400" EOL
WWRITE TEXT “INIT" EOL

< Double-Click to Add Transaction =

= Counter! (hp53131a @GFPIB0:2:ANSTR) =

VWRITE TEXT "FETCH.FREQUENCY?" EOL

= Double-Click to Add Transaction =

Counter2 (hp53131a @GPIB0:4:INSTR) =]

WRITE TEXT "FETCH:FREQUENGY?" EOL “

= Double-Click to Add Transaction =

Both counters EXT trigger — error 811

Counter (hp53131a @GPIB0:E:INSTR) 1=

WRITE TEKT "COMFFREG (@1)" EQL
5 R

it
WWRITE TEXT “FREQARMESTOR SOUR TiM' EOL
WRITE TEXT "FREQARMETORTIM 400" EOL
WWRITE TEXT “IMIT" EOL
= Double-Clickto Add Transaction =

—l Counter? (hp53131a @GFIBO:4:INSTRY -

WRITE TEXT "FREARMSTOP SOUR TimM" EOL
WRITE TEXT "FREQARMSTOPTIM 400" EOL
WWRITE TEXT “IMIT" EOL

< Double-Click to Add Transaction =

19834885283 1M

—-‘ Counter! (hp53131a @GPIB0:ZINSTR) -

VWRITE TEXT "FETCH.FREQUEMNCY?" EQOL

< Double-Click to Add Transaction =

=] Counterz (hp53131a @GFIB0:4:INSTR) =

WYRITE TEXT "FETCH.FREQUENMCY?™ EQOL

< Double-Click to Add Trangaction =

Counterl IMM trigger

= Counter! thp53131a @GPIB0:3:INSTR) =
1) EQL
R

WRITE TEXT " CONF FREQ (;

WRITE TEXT REQ ARM:ETOP:S0UR Tk EOL
WRITE TEXT "FREGIARM:STOP.TIM .400" EOL
WRITE TEXT "INIT' EOL

= Double-Click ta Add Transaction >

19.94883314M

= Counter! (hp53131a @GPIB0:3:INSTR) =
WWRITE TEXT "FETCH.FREQUENCY? EOL

= Double-Click to Add Transaction >

Only one counter EXT trigger, first sycle-error811 after that normal operation.



